
1

2

4

4

7

8

5

5

9

10

11

12

15

1417 18

16

EXP-03-T352

13

6

3

T352
CONCEALED VERTICAL 

ROD EXIT DEVICE
(EXPLODED DIAGRAM)

19

20

21

22

25 23

24

26

27
31

28

29

21

22

23

30

25

31

24

31 LOCKING BOLT SAE 12L14 STEEL  (9/16" Hex) YELLOW ZINC PLATED 2
30 BOTTOM STRIKE CAP NYLON 66 BLACK 1
29 BOTTOM ROD COMMERCIAL W1/4" THREADED ROD YELLOW ZINC PLATED 1
28 BOTTOM VERTICAL LOCK METAL SHEET SAE 1010 YELLOW ZINC PLATED 1
27 SENSOR ADJUSTEMENT NUT LOCK COMMERCIAL M4 x 2.2 HEIGHT YELLOW ZINC PLATED 1
26 SENSOR ADJUSTEMENT SCREW COMMERCIAL M5 x 8 YELLOW ZINC PLATED 1
25 FIXING STRIKE WITH FRAME SCREW COMMERCIAL COUNTERSUNK HEAD  PARKER #10 x 1/2" BLUE ZINC PLATED 6
24 SUPLEMENT STRIKE METAL SHEET SAE 1010 (1/16" & 1/32" thickness) BLUE ZINC PLATED 4
23 STRIKE METAL SHEET SAE 1010 NICKEL PLATED 2
22 FIXING LOCKS WITH DOOR SCREW COMMERCIAL COUNTERSUNK HEAD M5 x 8 BLUE ZINC PLATED 4
21 FIXING RODS WITH LOCKS NUT COMMERCIAL W1/4" x 3/16" HEIGHT YELLOW ZINC PLATED 2
20 TOP ROD COMMERCIAL W1/4" THREADED ROD YELLOW ZINC PLATED 1
19 TOP VERTICAL LOCK METAL SHEET SAE 1010 YELLOW ZINC PLATED 1
18 CYLINDER SPACERS (sold separately) METAL SHEET SAE 1010 (1/8" & 1/16" thickness) BLUE ZINC PLATED 2

17 CYLINDER LOCK RING                
(included in mortise cylinders) COMMERCIAL --------------- 1

16 MORTISE CYLINDER (sold separately) 1-5/32" DIAMETER MORTISE CYLINDER WITH ADAMS RITE 
MS CAM

1"  & 1-1/4" LENGHT (for 1-3/4" & 2" 
door thickness) 1

15 FIXING CYLINDER ESCUTCHEON WITH 
DOOR SCREW COMMERCIAL M5x45 & M5x50 BLUE ZINC PLATED 2+2

14 CYLINDER ESCUTCHEON ALUMINUM CASTING ELECTROSTATIC PAINTING 1
13 SILENCER SPIDER SANTOPRENE BLACK 2
12 ASSEMBLY VERTICAL RODS ALUMINUM CASTING NATURAL 1
11 FIXING ASSEMBLY VERTICAL RODS 

WITH DOOR SCREW
COMMERCIAL COUNTERSUNK

HEAD M5 x 8 BLUE ZINC PLATED 1

10 FIXING FRONT BACK BAR CAP WITH 
ASSEMBLY VERTICAL RODS SCREW COMMERCIAL M5 x 15 BLUE ZINC PLATED 2

9 FIXING REAR BACK BAR CAP WITH 
DOOR SCREW COMMERCIAL PARKER #8 x 1/2" BLUE ZINC PLATED 2

8 FIXING REAR BACK BAR CAP WITH 
BACK BAR SCREW COMMERCIAL ALLEN SETSCREW M5 x 5 BLACK BLUED 2

7 REAR BACK BAR CAP ALUMINUM CASTING ELECTROSTATIC PAINTING 1
6 FRONT BACK BAR CAP ALUMINUM CASTING ELECTROSTATIC PAINTING 1
5 ACTIVE PUSH BAR CAP SCREW COMMERCIAL COUNTERSUNK HEAD PARKER #6 x 1-1/4" ZINC PLATED 4
4 ACTIVE PUSH BAR CAP ALUMINUM CASTING ELECTROSTATIC PAINTING 2
3 DOGGING KEY SAE 1040 STEEL NITRIDING 1
2 ACTIVE PUSH BAR ALUMINUM PROFILE ELECTROSTATIC PAINTING 1
1 BACK BAR ALUMINUM PROFILE ELECTROSTATIC PAINTING 1

ELEMENT 
No. PART. NAME MATERIAL FINISH QTY

BILL OF MATERIAL (BOM)


	Sheet1
	Vista de dibujo1
	Vista de dibujo2
	Vista de dibujo3


